9 | Meg<zrRApERpplerir | 9

NS m#®E w2z 8(R0) 8 T bl 1 9 NS &% #55(F0)
EW e r LH¥(FC0) a e EW m= & meiE(R0)
B# | DL | & 2R WEE ES A%ERE A COP Datum
1
Kl z9zmx | NS [ EW | 25z2% | NS | EW | #8 | #9 | #8 | #9 |#8|#9 || Mean | Ns | EW
11| S |None| 6HW-1 50 6NE7 1020 | 1070 14 EW670 | 12 8
12| W | NS 2SW2 110 2DS4 130 240 6 EW40 | -2 -5
13 | N |Both|  4HN6 680 4HN7 710 30 1 NS680 A
14 | E |None] 5CWS 400 3NE-1 50 450 10 EW100 | -7 -4
15| s | NS 4SE-1 50 4SE4 420 | 470 10 EW240 | 7 5
16| W|EW| 1NW-1 100 2SN2 110 10 NSO 3 -3
17 | N |None|  3NW3 400 3NW-1 50 450 10 EW230 | -5 7
18| E | NS 4SE-1 50 3SE3 140 | 190 5 Ew40 | 3 3
19| s | EW 4HN6 480 4HNS5 450 30 1 NS390 | 3 -2
20 | W |Both|  3sN3 140 3SN-1 100 | 240 6 EWS0 | 6 1
w3 INP|36 |27 20 | -5
BE 8 Z 9 B
* B IMP 36 27
&+ 1NP 36 27 .
2 3VP 13.14 6.86




Ly e Y >3z 1 2 = 9
9|1uﬂ¢«13m$§%%$¢£ﬁﬁ 00w
bhi
NS #z# mzm(R0) 2 T bl 2 3 NS ##es =mag(PC)
EW &&it 2 (30 a e EW %4 3 Xi5(R0)
B# | DL | & Yk M3 ES R A~ COP Datum
1
R R, NS | EW | &2 23 NS | EW | #2 | #3 | #2 | #3 | #2 | #3 Mean NS EW
11 S |None 6HW-1 50 6NEG6 990 | 1040 14 EWG670 12 8
12 | W | NS 2SW2 110 2SW3 140 30 1 EW40 -2 3
13 | N |Both 4HN6 680 4HN6 680 NS680
14 | E |None 5CE-1 50 3NW-1 50 EW100 4 -4
15| S | NS 3SE4 170 3NE4 430 260 6 EW240 2 5
16 | W | EW 2SN3 140 2SN3 140 NSO 4 -4
17 | N |None 3NW3 400 3NW3 400 EW230 -5 5
18 | E NS 4SE-1 50 4SE-1 50 EW40 3 -3
19| S | EW 4HN5 450 4HN6 480 30 1 NS390 2 -3
20 | W |Both 3SN-1 100 4DE-1 100 200 5 EW80 -1 -5
@3t IMP|21 | 6 19 2
E3 2 TW Mixed 3 B A5
* B IMP 21 6
&+ NP 21 6 s
2 3-VP 14.80 5.20
5t




Ly e Y >3z 1 2 = 9
9 | ¥ 2ABERFHLETH o oo
3
NS m&= HiEz(R0) 4 T bl 3 5 NS num HEF(FO
EW #&=z# FREWFC) a e EW 2 Hh&F(R0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
Kl 29zmx | NS [ EW | 25z2% | NS | EW | #4 | #5 | #4 | #5|#a | #5 || Mean | Ns | EW
11| S |None]  3NE6 490 6NE6 990 | 500 1 EW670 | 5 8
12| W | NS 2SW2 110 1HEA 80 30 1 EW40 | -2 1
13| N |Both|  4HN6 680 4HN6 680 NS680
14 | E |None] 2SE-1 50 3NW3 400 | 450 10 EW100 | 4 7
15| s | NS 4SE-1 50 4SE4 420 | 470 10 EW240 | 7 5
16| W |EW| 1HW2 110 1NW2 120 | 10 NSO -3 3
17 | N |None|  3NW-1 50 3NW3 400 | 450 10 EW230 | 7 5
18| E | NS 3SE3 140 4SE-1 50 190 5 EW40 | -3 3
19| s |EW 4HN6 480 4HN5 450 30 1 NS390 | 3 -2
20 | W [Both|  3sN-1 100 3NXW3 750 | 650 12 EWS80 | -1 12
@3 IMP|54 | 6 17 | 36
E2 S 4 Infinity 5 ER A
* B IMP 54 6
&3 MNP 54 6 M
VP 20.00
b 4




Ly e Y >3z 1 2 = 9
9 | L& F2RpERFHLETH 0 w0
5
NS mi# mzi(E0) 6 T bl 4 7 NS =4 mze(®0
EW +Hitiz Hhd&t(FP0) a e EW f£xz 1#i(R0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
Kl 29zmx [ NS [ EW | 25z2% | NS | EW | #6 | #7 | #6 | #7 |#6|#7 || Mean | Ns | EW
11| S |None] 6HWS 980 6NE6 990 | 10 EW670 | -7 8
12| W | NS 1NN3 150 25W2 110 | 260 6 EW40 | 5 2
13 | N |Both|  4HN6 680 4HN6 680 NS680
14 | E |None] 3NE-2 100 2SXN-2 300 | 400 9 EW100| 5 5
15| S | NS 2SE4 170 4SE4 420 | 250 6 EW240 | 2 5
16 | W | EW 1NWA1 920 2HW2 110 | 20 1 NSO -3 3
17 | N |None|  3NW3 400 4SW-1 50 450 10 EW230 | -5 7
18| E | NS 3SE3 140 3SE3 140 EW40 | -3 3
19| 8 | EW 6HN-1 50 4HN5 450 500 1 NS390 | -10 -2
20 | W |Both|  3SN-1 100 3NW-2 200 300 7 EWS0 | -1 7
@3t IMP[22 |28 47 | 10
LA
B 6 L ja 7 TW Open
* @ IMP 22 28
£ 3 INP 22 28 y
VP 7.82 12.18
5t




v L
IlHﬁ I rRBERESLET ﬁ%l L
7
e 1 [Table 5| 10 ;,—
EW G19) a e (F0)
g# | pL | &5 ol 4 MEz ik REAA | COP Datum
i £z % NS EW £z % NS EW #1 #10 | #1 [#10] #1 [#10 Mean NS EW
11| S |None Averagg Averagg EW670
12| W | NS A Averagg¢ A Averagg¢ EW40
13 | N |Both A Averagg A Averagg NS680
14 | E |None A Averagg¢ A Averagg¢ EW100
15| S | NS A Averagg A Averagg EW240
16 | W | EW A Averagg¢ A Averagg¢ NSO
17 | N |None A Averagg A Averagg EW230
18 | E | NS A Averagg¢ A Averagg¢ EW40
19| S | EW A Averagg A Averagg NS390
20 | W |Both A Averagg¢ A Averagg¢ EW80
Rt NP
TS, e kY
®* 1 < 10 %3
* B IMP
& - INP
2 HVP 10.00 10.00
5t




2 - <
9] llle§<Z 2RpERFHLET ﬁ%l .
o3
NS #%fr #552F0) 9 T bl 1 8 M ®E wEM(R0)
EW m= 2 meEz(R0) a e EW mex S#E(FC)
B# | DL | £ % MFE ARE ES A%ERE A COP Datum
1
Kl z9zmx | NS [ EW | 25z2% | NS | EW | #9 | #8 | #9 | #8 | #9 |#8 || Mean | Ns | EW
11| S |None|] 6NE7 1020 6HW-1 50 1070 14 EW670 | -8 A2
12| W | NS 2DS4 130 2SW2 110 | 240 6 EW40 | 5 2
13| N |Both|  4HN7 710 4HN6 680 30 1 NS680 | 1
14 | E |None| 3NE-1 50 5CWS5 400 | 450 10 EW100 | 4 7
15| s | NS 4SE4 420 4SE-1 50 470 10 EW240 | -5 7
16| W |EW 2SN2 110 ANW-1 100 10 NSO 3 3
17 | N |None|  3NW-1 50 3NW3 400 | 450 10 EW230 | 7 5
18| E | NS 3SE3 140 4SE-1 50 190 5 EW40 | -3 3
19| s |Ew 4HN5 450 4HN6 480 30 1 NS390 | 2 -3
20 | W [Both|  3sN-1 100 3SN3 140 240 6 EW80 | -1 -6
@3+ IMP|27 |36 5 | -20
2 43
¥ 9 B 8 cAREd
* B IMP 27 36
£ 3 INP 27 36 B
» HVP 6.86 13.14
5t




2 e s >3z J A = 9
9|1M&¢«13W%§m%$¢£;ﬁ b
3
NS ##8& =g (PC0) 3 T bl 2 2 NS #z# msm(R0)
EW #442 2 8E(R0) a e EW #&e&ix £ (B0
B# | DL | & #% MEE M E ik REAA | COP Datum
1
Kl z9zmx | NS | EW | 2mz2% | NS | EW | #3 | #2 | #3 | #2|#3|#2 || Mean | Ns | EW
11| S |None|]  6NE6 990 6HW-1 50 1040 14 EW670 | -8 12
12| W | NS 2SW3 140 2SW2 110 30 1 EW40 | -3 2
13 | N |Both|  4HN6 680 4HN6 680 NS680
14 | E |None|  3NW-1 50 5CE-1 50 EW100 | 4 -4
15| s | NS 3NE4 430 3SE4 170 260 6 EW240 | -5 -2
16| W | EW 2SN3 140 2SN3 140 NSO 4 -4
17 | N |None|  3NW3 400 3NW3 400 EW230 | -5 5
18| E | NS 4SE-1 50 4SE-1 50 EW40 | 3 -3
19| s | EW 4HN6 480 4HNS5 450 30 1 NS390 | 3 -2
20 | W |Both|  4DE-1 100 3SN-1 100 | 200 5 EWS0 | 5 1
w3 IMP| 6 |21 2 | 19
[ 3 ¥ A 2 TW Mixed
* B IMP 6 21
&3 TP 6 21 s
2 HVP 2.20 14.80
5t




2 e s jdg_ J A = 9
9|1M&¢«13W%§m%$¢£;ﬁ b
bhi
NS mum HE£FC) 5 T bl 3 4 NS m&E= #iE2(R0)
EW i3 Ha2(R0) apie EW %73 $IRE(FC)
B# | DL | £ % MPE 2HE ES R% R A~ COP Datum
1
i t¥z2% | NS | EW | 2x%3223% | NS | EW | #5 | #4 |#5] #4 | #5 ] #4 || Mean | Ns EW
11 S |None 6NEG6 990 3NE6 490 500 11 EWG670 -8 -5
12| W | NS 1HE1 80 2SW2 110 30 1 EW40 -1 2
13 | N |Both 4HN6 680 4HN6 680 NS680
14 E |None 3NW3 400 2SE-1 50 450 10 EW100 -7 -4
15| S NS 4SE4 420 4SE-1 50 470 10 EW240 -5 -7
16 | W | EW 1NW2 120 1HW2 110 10 NSO -3 3
17 | N |None 3NW3 400 3NW-1 50 450 10 EW230 -5 -7
18 E NS 4SE-1 50 3SE3 140 190 5 EW40 3 3
19| S | EW 4HN5 450 4HN6 480 30 1 NS390 2 -3
20 | W |Both 3NXW3 750 3SN-1 100 650 12 EWS80 12 1
@3 IMP| 6 |54 36 | 17
" .
B 5 2 2dm 4 Infinity
* B IMP 6 54
&3+ 1P 6 o4 "
B VP 20.00
L




Ly e Y >3z 1 2 = 9
|9 | =g FrApERFHLEFTHR
NS x4 m=£(F0) 7 T bl 4 6 NS i mzi(R0)
EW %% 25 4(R0) apie EW friai ta (PO
B# | DL | & #% MEE M E ik REAA | COP Datum
1
R tyze% | NS | EW | 2% | NS | EW | #7 | #6 | #7 ] #6| #7 | #6 || Mean | Ns
11 | S |None 6NE6 990 6HW6 980 10 EW670 -8 7
12| W | NS 2SW2 110 1NN3 150 260 6 EW40 -2 -5
13 | N |Both 4HN6 680 4HN6 680 NS680
14 | E |None 2SXN-2 300 3NE-2 100 400 9 EW100 -5 -5
15| S | NS 4SE4 420 2SE4 170 250 6 EW240 -5 -2
16 | W | EW 2HW2 110 1NW1 90 20 1 NSO -3 3
17 | N |None 4SW-1 50 3NW3 400 | 450 10 EW230 7 5
18 | E | NS 3SE3 140 3SE3 140 EW40 -3 3
19| S | EW 4HN5 450 6HN-1 50 500 11 NS390 2 10
20 | W |Both 3NW-2 200 3SN-1 100 300 7 EW80 7 1
#3- INP|28 |22 A0 | 17
A
% 7 TW Open 6 i 7%
* BINP 28 22
£ 3 IMP 28 22 ]
2 HVP 12.18 7.82
it




= - S Y Y =
9 | INEEE2RABERFHLETRE | 9 0
b
NS (B0 NS (R0)
sw w0 10 (Table 5| 1 o
B# | DL | £ % MEE M E ik REAA | COP Datum
R EXE B NS | EW | 29223 NS | EW | #10 | #1 [#10] #1 [#10]| #1 Mean NS EW
11 | S |None EW670
12 | W | NS EW40
13 | N |Both NS680
14 | E |None EW100
15| S | NS EW240
16 | W | EW NSO
17 | N |None EW230
18 | E | NS EW40
19| S | EW NS390
20 | W |Both EW80
A3 IMP
i 10 % 1 <
* B IMP
£+ IMP
2 3VP 10.00 10.00
b 4




